[image: image1.png]38, The stress-strain diagram for a steel bar is shown
n dhe figure. Determine approximately the modulus of
elasticity. the proportional limit, the ulimate siress, and the
‘modulus ofresilience. I the bar s loaded until s tressed to
450MP, determine the amount of clastic strain recovery and
the permanent setorstrain inthe bar when it s unloaded
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[image: image2.png]311 The stress-strain diagram for polyethylene. which is
sed 10 sheathr coaxial cables,is determined from testing a
Specimen that has a gauge lengih of 10in. 1faJoad P on the
specimen develops a sirain of « = 0.024inin. determine
the approximate length of the specimen, measured between
the gauge points, when the load i removed. Assume the
specimen recovers clastially.
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[image: image3.png]stress-strain diagram for a polyester resin is
ibefgure. 1 the rigid beam is supportcd by  strut
ost CD made from this material. determine the

P that can be applied to the beam before it
The diameter of the strut is 12 mm and the
ofhe post is 40 mm,





[image: image4.png]The shear stress-stain diagram for a sicel alloy is
in the figure. I a bolt having a diameter of 025 in
of this material and used n the lap joint, determine
modulus of elasticity £ and the force P required o
the materil 1o yield. Take » = 0.3
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[image: image5.png]3-M. The rubber block is subjected to an elongation of
0.0 . along the x axis, and s vertcal faces ar given 1l

sothat 6 = 0.3 Determine the strains €., and ., Take
v =03,





